
Compound EC50 (mM)

1 CCN(CC)C1=NC(NC2=CC=CC=C2)=NC(OC(C(F)(F)F)C(F)(F)F)=N1 0.24

6a CCN(CC)C1=NC(NC2=CC=CC(OC=O)=C2)=NC(OC(C(F)(F)F)C(F)(F)F)=N1 0.16

6b CCN(CC)C1=NC(NC2=CC=CC(F)=C2)=NC(OC(C(F)(F)F)C(F)(F)F)=N1 0.14

6c CCN(CC)C1=NC(NC2=CC=CC(Cl)=C2)=NC(OC(C(F)(F)F)C(F)(F)F)=N1 2.8

6d CCN(CC)C1=NC(NC2=CC=CC([N+]([O-])=O)=C2)=NC(OC(C(F)(F)F)C(F)(F)F)=N1 0.2

6e CCN(CC)C1=NC(NC2=CC=C(C(O)=O)C=C2)=NC(OC(C(F)(F)F)C(F)(F)F)=N1 0.9

6f CCN(CC)C1=NC(NC2=CC=C(F)C=C2)=NC(OC(C(F)(F)F)C(F)(F)F)=N1 0.7

6g CCN(CC)C1=NC(NC2=CC=C([N+]([O-])=O)C=C2)=NC(OC(C(F)(F)F)C(F)(F)F)=N1 18

6h CCN(CC)C1=NC(NC2=CC=C3C(NN=C3)=C2)=NC(OC(C(F)(F)F)[C](F)F)=N1.F 0.9

6i CCN(CC)C1=NC(NC2=CC=C3C(C=NN3)=C2)=NC(OC(C(F)(F)F)[C](F)F)=N1.F 2.8

6j CCN(CC)C1=NC(NC2=CC=C3C(OC=N3)=C2)=NC(OC(C(F)(F)F)[C](F)F)=N1.F 0.15

6k CCN(CC)C1=NC(NC2=CC=C3C(SC=N3)=C2)=NC(OC(C(F)(F)F)[C](F)F)=N1.F 0.05

7a CCN(CC)C1=NC(NC2=CC=CC=C2)=NC(OCC(F)(F)C(F)F)=N1 2

7b CCN(CC)C1=NC(NC2=CC=CC(OC=O)=C2)=NC(OCC(F)(F)C(F)F)=N1 0.5

7c CCN(CC)C1=NC(NC2=CC=CC(F)=C2)=NC(OCC(F)(F)C(F)F)=N1 1.6

7d CCN(CC)C1=NC(NC2=CC=CC(Cl)=C2)=NC(OCC(F)(F)C(F)F)=N1 5.4

7e CCN(CC)C1=NC(NC2=CC=CC([N+]([O-])=O)=C2)=NC(OCC(F)(F)C(F)F)=N1 1.2

7f CCN(CC)C1=NC(NC2=CC=C(C(O)=O)C=C2)=NC(OCC(F)(F)C(F)F)=N1 2.5

7g CCN(CC)C1=NC(NC2=CC=C(F)C=C2)=NC(OCC(F)(F)C(F)F)=N1 4.8

11 CNC1=NC(NC2=CC=CC=C2)=NC(OC(C(F)(F)F)C(F)(F)F)=N1 0.12

12 CNC1=NC(NC2=CC=CC=C2)=NC(OCC(F)(F)C(F)F)=N1 0.04


